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       VRMS = 0.637 Vp 
 
 
 
 
 
          dωt   Π           2Π 
 
 
 
The voltage equation is: 
 V = Vm sin ωt 
 
There are two sine waves present in one cycle (the second being the negative half cycle 
rectified.) To get the RMS voltage, we need to know the shaded area and divide by the cycles 
that it appears above the zero line (2Π), thereby getting the “root mean square” RMS. 
 
  

     2 x  ∫(Vm sin ωt)X dωt 
VRMS = ------------------------------------------------ 
                              2Π 
Take the constants out: 
 
 Vm    
VRMS             =  --- 
 Π 

∫ sin ωt dωt      
We get: 
 Vm    
VRMS             =  --- 
 Π 

[ -cos (2Π)+cos(0)] 
Or: 
 Vm   
VRMS             =  ---- 
  Π 

[ -(-1)+(1)] 
 
 2Vm  
VRMS             =  ---- 
  Π 

 
  =     0.637 x Vm 

 

Vp 


